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INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before
you answer the questions. Answers are to be given
on a2 SEPARATE ANSWER SHEET. Use only
HE Pencil.

1. Write your Roll No. very clearly (on one digit in
one block) on this booklet and on the ANSWER
SHEET (OMR Sheet).

2. This question paper comprises four Parts [, II,
IIf and IV with you. See tha Parts I, II and
IIT contain forty questions each and Part IV
contains 30 questions. Answer all the 150 ques-
Licms.

3. Answer each question by filling the correct
alternative among the four choices on the
answersheet as shown in example below :

Example :
Q.No. Alternatives
Correct way : I @ @ . @
.No, Alternatives
Wrong way : | ® @ F 6

4. Separate sheet has been provided for rough work
in this test booklet.

5. If you want to change your answer erase the
earlier filled circle completely and then darken
the circle of your choice.

6. Now turn 1o the next page and start answering
the questions.
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1. =EFIS. | FED:

(1) veREEE
(2) =W

(3} W

(4)  HEE

2 = H & A g e = 2
(1) e

(2) el
(3) W=
(4) el
3. U (1) wWEE
(1) 55 o
) g5 W
(3) 5:|:| e
(4)- —zg
4. Tfeifiga <=0 e oEs Sim T e
(1) w=Hkw
(2)  wiabEgma ';,_
(3)  wfergan
{4) FEE

5 FEITREiTEn f eeE e wn e

(1) S==gH
(2) ol
(3) wEEA
(4) e

. Part-|
ifereht

1 S. . Unitof pressureis :
(1) atmosphere
{2) bar
{(3) o

J/ pascal

2. Which of the following is not the basic unit of

measuremsant 7
(1) radian
{2} | Kelvin .
(3) mole

(4) candela

3. Onedegree(1%)isequalio:

(1) _ﬁﬁl:l rad
__180 rad
@) —5 rad
{4} _ﬁﬂ rad #
4. 'Ohm'is not the unit of which of the following
guantities?

"'_.'.-_:1 d’ - 2 ra.:)

{1} Reluctance
ﬂ Reactance
(3) Resistance
4) Impedance

5.  Which among the following, is the smallest

—r unit oflength?
\})«)/ Angstrom
(2) Fer-ml
(3) Micron

(4}  Nanometer
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2 aEgsdi # FE (W) 2m 390 m @ 39 b,
g h,H U Brd e = ) e o e |
gieiT A2 210 o7 7 w1 S R
o =
oy '.:
D @ & S
(3) 5 h

m N
4 = 15
il h, (4) ﬁ_:l' 1; NS

SEIE 1 il #le '

“ﬁﬁwm%w 2aeli i 7. What drives a nail into wood wi
oG T 0 2 7 !r ahammer
(1) =& (1) Force
(2) wmEmHzE = A Impuise
(3) WMz ' (3) Momentum
(4) =mEZm (4) Acceleration
FETR : 8¢ Impulseis .
| - wEEE e oL e 22tpﬂmtalﬂ
I - oftE @e @ AR 39 & T & -

& % R Il - Equal to the
I - #@and T aiEd momentum:
FH 1 FFeI Tera 2 0 false?
1) F=Eel
i {1} lonly
(2) &l ~{2) Nonly
(3) Faelll (3) MHionly _
(@) wuE (4) ft
38 a w9 gad @ g w9t w5 wE
St & wae g 1
(1) wEaF
(2) ZHER
(3) TEE

HTZL



. ilifi‘ﬁ;i] o] BT S 2
I'[ﬁ'!ﬂ'[-'.?},fﬁﬁu
i T A
RHI 0 % Sl
T 7 AL A1 U FH
g 3 A1t firan e e o Al a T
B soc & i1 g ol = @il y
1) 784m

2} B4m
-..[3} 20m

4) 260m

§ =z #1 44 9.8 W TE W FW @ 21
TR
1) 40 ms ™
2 sms”
@) a6ms”
) o051ms”
it a1 it 71 300% 5@ Al 7l 39
S HAT S T
(1)  300%

@2) 150%

.-f.3? 100%

) 0%
W i e A
) wEHE
A T A
S
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10. The numerical ratio of displacement 0
distance is -

(1) alwayslessthanone
(2) aiways morethanone
(3) alwaysequaltoone

\/(3( equaltoorless than one i

11. Astoneis dropped from a bridge reaches the
bottorn in 4 sec. The heightof the bndge s :

R

- = v 58
(Z}y B4m + ’(‘:) !

(3) 20m 2 ?} o 7%

(4) 260m

12. Aforce of 5N acts on a body of weight 9.8 N
= The acceleration producedis:

2

(1) 40ms .
{2) S5ms

(3) 146ms™

(4) 051ms™"

13. The Kinetic Energy of a body increases by
300%. The linear momentum of the body
increasesby: |

(1)  300% 1“19
@) 150%

\/.33/1 00%
(1) 50%

14. The Inertial and gravitational mass of a body

i : =] E}'G =
f1)  unequal
(2) exactlyequal 5

N
(3) energy '

N 09"
{4) density
i



15, TeAuEn FueiF 4% wonan wiur 2

(1)

(3)
(4)

LR

PR

16. o 4 s 2 -

(1)
(2)
(3)
(4)

20 Hz to 2000 Hz
10Hzto20Hz

20 Hz to 20,000 Hz
20Hzto 100 Hz

17, I %1 U 7 U1 0 W e 1 3 TE 20 m ah
i-'T"T':;’I dﬁl"ﬁ%; =T J.] o1 5 oo o

(1)
(2}
{3)

(4)

HZ T4l 2
q2 Al 2
o TR B

TR e gEar 2

18, 5 3 aee Fe w3

(1)
(2)
(3)

(4)

1 AT & 1]
FH TGl & W
T T & FH

Y ZaTe & FH

19. i %1 v% 723 =) qf2a us & 3w v s W
58 e T T2 80 T A B THE HE 2

fa
{1)
(2)

(3)

(4}

T T 90 AT A W15 S0adT 2
9zl o Pt @9 @ s = sada g )
92 & T A O U9 & e gnads
#4121
= F Ee @@ 3 5= oE Wit
RHELERG IR

15. A 4°c given massof water has maximum

(1)

\/cﬁ

(3)
(4)

heat
volume
energy

density

16. The audible frequency rangeis:

(1)
2
(

(4)

20Hz to 2000 Hz
10Hzto 20 Hz
20 Hz to 20,000 Hz

20Hzto 100 Hz

1% Acube of ice floats in a beaker of water whe
the ice melts, the level of water in beaker -

(1)

e

falls

rses

{3) remainsthe same
(4}  mayrises or fall
18. Clouds floats in the atmosphere on accour
of their :
(1} lowtemperature
(2) lowwviscosity
‘/({f} low density
(4) low pressure

13. A printed page is seen through a glass siat
=  placeonit. The printed words appear raised

Thisisdueto:

(1) refraction of the upper surface of the
slabs.

/!{ refraction of the lower surface of the

slab.

{3} parial reflection of the upper sdrfa-::e
ofthe slab

(4)  partial refiection of the lower surface

ofthe slab
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i 8 71 wone 29 AR T §) S i i

el e O ) Fo e et 0 HEn
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(2) #=

(3} =R
4) =:
v g A s ¥ s g A R A E
Al 2 wa g T el 3 A A e S 8 Al
w5 et #1050 A A e Heba foeran £ e
(1) 2 TR ST = A

(2) = = o wem o it 2w R
Ea kA

(3) v @ g rEe s gfvin w5 wE oen
S EETEL
(4) 2T mEm it F A 2

o e 3 v A 1 o A S i e s
21 A 7l & T 1 50% 9 41 At B 2 &
1= 17 2 A% o 3= Endl

(1) 254
(2) 4t
(3) 34
(4) 1.25%.

TH R A TEI P SR Q F R S, gV, 9
a1 A1 S, \V, AT § a9 Fa) 2, 7 e an

T
v, v,
{1) Fl
Vi=
1 .
@) SrsIv,
SV T BV,
{4) S.¥; + 5V,
[

26

-

Two mirrors are placed at right angles to
each other as shown in the figure. The lotal
number of images of an object 'O" placed
between them, that are seen are:

(1) Two
Three

( 3‘,|- Four

[4) Six

Lunar eclipse occures when earth comes in
between sun and moon. Solar eclipse
occurs when moon comes in between
sun and earth. This suggests that :

(1) both eclipses occur on a new moon day

vpj/ solar eciipses occurs on 8 new maon

Vo

day

(3] Lunar eclipse occurs on a new moon
day

(4) both eclipses occure on a full moon day
Aball of mass 1 kg is dropped from a height

of 10m it losses 50% of its velocity when it
strike the ground. The height gained by the

\/::?ﬁergtrikewiube: '
| 25m o S
v =N29h

23.

2) 4n :
(2) 4m imﬂ&
(4) 1.25m ?

Acar covers distance 3, with uelncﬁy "u' and
distance S, with velocity V, between two
cities Pand Q). Its average velocity will be

(1 Lot
V=V,
@ st
(S, P SV,
LR

5, 8.V,
) (S, + S ViV,



24, mamﬁaﬂiﬁﬂ
(1) FgRvEezms
(2) zEi®Ezag
(3) wHRYEEH
(4)  smrifag uaz i

25, ﬁaﬁmﬁﬁmﬁa‘rwm&vﬁrﬁrﬁﬁﬁ
%’ﬁ'ﬁ:

() I & it s ot fem 3 fandta o e
2l

(2) =i S it aiy

(3} wEE & um A B & fauf nfy
EarEd

(4) ol B 5t v ) e il 8y

26. Eﬁ#ﬁﬂ’r&m%nmn_msrﬁfmihwﬂsﬁm
&1 Tl & AT H oA fam T e
LT AT 1 % T § 7 e 2

(1) 100 am10

(2} 1923W0.10

(3) 10 70010

4) 010 @m0.010
27. e o oA

(1) T
(2) TEhs
{3) dAmamy
(4) wTigez g

28. A2 H eFud qudt i £ e 10 mis. 71 4fE 2y
AR F1f F ey HE H-TTE 5 secs. 71 H)

(1) 100m
{2) 850m
2 2m
(4} 05m

27.
\/;2( Chadwick

25.

A o

§ = Fx\WJ

1-.3 - ST W

these resistorsa
(1) 100and
@) 10a0d0.18
¥ 10and0.01

(4)  0.102and 0.0

The Neutron was dis:

(1)  Rutherford

(3} NeilsBohr
(4)  Summerfieid
Ocean wave striking the s
move with a speed
interval between two =
5 _53_'[3. The;fWE"ﬂ“E-‘ 2 . : _..-

(1)  100m

(2) 50m

(4) 05m
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30.

2

ZHT £
(1) “o=ge
) =

@ x.%
(4) E-., ..-:r
——

afz "\ T2 = s et i & = SR
& W19 S e B e ey 1 e o ae
wnal 21 & Ffataa Rt 8 g wam g v el
1 % geey 5 25 2|

(1) ”T‘

=
(2) HTA
5
@ 4
—
(4) o

=
faft gvirn 2ol & 234 W g NS 11 2|
Trr 1 T fod 8 i T R, Feelt A @
ST S 2

Feeell 3 Sfva Forga s Avf:
(1) "=

(2) FwE

(3) =hmad

(4) FHAFETA

represents correct path of a ray of light

>2& Which one of the following figures

31.

through a glass prism:

B

{4} _)_45

. If a voltage (V) is applied to a2 copper

conductor and a current (I} flows through it
which one of the following gives the relation
betweenV and 1. y

e
}(v?é |
3

(4) v?_4

A magnet NS is placed along the axis of a
circular coil. The magnet is moved away
from the coil as shown.

—_

Theinduced currentin the coilis :

_’\Mzem

(2) clockwise

| {3) anticlockwise

{4} noneofthese
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33,

35,

36.

RUH T foby
(1) Fwema
(2) =Frufwgd
@) =3

(4) ARy

SIS A TR A o form w2
2 oy 2 -

(1 10°
2) o
3y =g
(ay o —ag’

nfq?rﬁg’mm:rﬁﬁm,aﬁ'mwﬁah;

(1) @
(2) tenm
(3) =g
(4) =

T, Tt o e i 2

' (1) wafes waem
(2)  wwuitrs o
(3) fafrmsin
4) T

T e S § 1 3977 2 R
(1) TET=12
(2) =RFH TR

(3)  F51 FHTE wgd e ¢

(4) =% 3@ 9raF 2
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33.

34

36.

Whao first established the fact that the earth
revalves round the sun,

{4) Galileo

At what point the centigrade and Fahrenheit
temperatures are same. thatpoint is -

a

(1) 4o
A

(@) gl
4 -40°

If there were no atmosohers. what would be
the colour of sky?

(1) Red
(2) Blue
(3) White
(4) Black

Red, vellow and blueare;

{1)  primary pigments

{2)  primary colours

(3)  secondary colours

@) complementary colours

Tungstan is used for the manufacture of an
electric bulb because -

{1} itismalleable

(2)  itisunexpensive

‘/(6{ ithas a very high melting point

(4) itisagoodconductor
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M

37. ‘Water pipes are apt to burst in cold weather
because:

{11 heavy pressureis exerled by shiow.
{2} theycontractin cold

ﬂ the water in the pipe turns into ice and
expands

{4) theyexpandon cooling

38. Match following
A inductance i

B capacitance 2 —’iﬁ#ﬁr‘l—

C variableresistance 3 —_rrrrerne

TR s T

ot
- s s
g =1|‘:3; e 3
3) A B C @A B
K ] Skt
. A'B € @ A
iR 5 o
100 w 1 T = 5 e | Taddl 39t =1 39m A O b S s STy
Hami ?
; ?w{
(1) 053f= - 0.5 units
(2 13f 2) 1unit Dl
(@) 27 © (3) 2units
5 units
(4) 5xfF )

40. An electron enters a magnetic field at right
angles to it shown in figure. The direction of
force acting on the electron will be

W TR Uk e £ H dEEe Y #a 2
(Fast = srgem) $etag ™ FpHET a9 &
i 7

W

s

magnetic field

W

(1) wh e ) e .
(1)  tothenght

k

Fwe e iy Hn
o v (2) totheleft

(3) W kam S A \)ﬂ{ outof the page
(4) T R \)(intuthepﬁgﬂ




s-il Part-l
faslzEMCEIGS
CHEMISTRY
a4, e e & T 1 qEaT o e e E 4}9 \Which chemical is mixed i LPG to detect its
ST TR B B ; lzakage:
(1) HS . : (1) HS ’
(2) foemge SEEEET (2) MIC
. (3) e e (3) Mustardgas Jlé“;
(4) A AR (4) Ethanethiol 3
D)(! A2, e S T T A 3. 47 Chemically the water gasis:
() HO () " (1) H.O(gaseous)
(2) CO+H, ﬁ CO+H,
(3) CO,+H; (3) CO,*H;
4) CO+N, ' (4) CO+N,
2% 43, o e i A HEE ESGIEE 43 Thecomposition of Germansilver alloy is:
-‘.-.; ' (1) 70%Cu+30%Zn (1) 70%Cu+30%Zn
(2) 60%Cu+30%Zn+ 10% Ag (2) ©0%Cu+ 30% Zn + 10%Ag
L4 (3) . 60%AGF 0B | (3)  60%Ag+40%Cu

{4 20% Cu +30% Zn+40% Ni .l 209 Cu +30% 7+ 40% Ni

e ‘
a4, ZTEA T RIECEInES 44 TheLatin name of metal Tungustenis:

(1) Ak (1)  Natrium
(2 (2) Ferrym
(3) AT ﬂ Waolfram
(4) e 4) Kalium
| oremsd e & it T & 45, Whichis notrelated to colloidal solution:
(1) Fsawmm (1)  Tyndall Effect
(2) T FoEAEH (2) Electrophoresis
(3) e sRAEl \4# Veryunstable
4 ,]'I?ﬁ""ﬂ fa (4) Brownian movement
12




46.

47.

48,

A

50.

51,

UE amu TR FET R
(1) 166x10"*ky
(2) 186x10""g
(3) 166x10 *mg
(4) 1.66x10"* dvg

8 7T He A =21 &1 wa et 21 2

(1) B6.022 x107

(2) 2x6.022x10%
(3) 3x6022 x10®
{4) 4x6.022 x107

ifira <6 i for o

(1) . 3. g

(2) "ezER
- (3) TIEE

(4) ==faw

firram e 319 i &

(1)

@

(3) =i

(4) wEm

AR OE  BE E S S e 2 7
(1) mmﬂﬂﬁ

(2) Fm=sds

(3) e Hw

(4) Twds

s # CO , T it famgm w =1 m Fm awg
Fag?

(1) e fem

(2) w0

(3)  wiEEw =

(4) ziwed = Fam

13

46. Oneamuequalsto:

(1)
(2)
(3)
(4)

166x10 kg
166x10 g
166x10 " mg

1.66x 10 * pounds

47. Numberofneutronsin8gHeis:

(1)
(2)
(3)

6.022 x107
S
2x6.022x10%

3x6.022 x10%

\}M/ 4x6.022 x10™

48. Whodiscovered the nucleus:

(1)
(2)

J. J. Thomson

Goldstein

ﬂ Rutherford

(4)

Chadwick

49, Cinnabarisanore of:

(1
(2)
(3)
4

(2)
(3)
(4)

Copper
Mercury
Silver

Zinc

Which cell is used in wrist watches :
{1) Mercury cell

Daniel Cell
Leclanche cell

Fuelcell

51., Which rule is applicabie on the dissolution of

'\l-_-;?
)p (1)
{2)
(3)

@

CO,gasincold drinks

Hess' Law
Henry's Law
Kohirausch Law

Dalton's Law




hs)

Al —

{ =

52

a3.

i

26,

5T,

TEH B i A T A 2
(1} BF,

(2) NH,

(3) B(OH)

(4) AICIL

ToEEEEIH POP Ea:

(1) C€aS0,.2H,0

(2) (CaS0,),.H,0

(3) CalOH)

(4) (CaSQ,),. H.O
HrETeTEs Bl 2 :

(1) NaoH+KOH

(2) CaQO+Ca{OH),

(3) NaHCO,+Na,Co,

(4) MNaOH+Cal
e R T8 2

(1) K,S0,.AL(SO,), 24H,0
(2)  Na,S0, AL(SO,),.24H0
(3) K.S0,.Cr,{S0.),.24H0

(4) FeSO,. (NH,),SO,.24H,0

FreTa 1 i o e 2 -
(1) <

(2) @

(3) FEwRe

(4) i

= T Fo-Tae frefim T wit § T A
FFarE?

(1) WVit-B,
2y Mit-B;
(3) WVit-B,

(4)  Vit-B,

14

52 Whichoneis not acidicin nature

(1) BF,

(2) NH,
3T B(OH),

4 AL

53. Chemicallythe PO.P.is:
i  GCas0, 20
(2) (CaS0,),.H.0
{3) -CafOH),
{4) (CaS0,),: HO
54. Sodalimeis:
{1) HMagH+KOH
(2) CaO+Ca(OH),
(3) NaHCO,+Na,CO,
‘)‘( MNaDH + Cal
55. 'ﬂl‘-:hhnﬂtmaium
(1)  KSO,.AL(SO,),.24H,0
(2) NaSO,.AlL(SO,).24H0
(3) K,S0,.Cr,(S0,),.24H,0
(4) FeSO,.(NH,),S0,.24H.0

56. Metalpresentin chloroplastis:

(1) Iron
(2) Copper
(3) Cobalt

{4) Magnesium

~ 5 Which water solubie vitamin can be stored in

‘?0 our bady :
(1) Vit-B,
(2) Vit-B,
(3) Vit-B,
(4)  Vit-B,




S8

58,

60.

61,

62.

63.

(3) g

(4) difgEw

.= v o A e A 20
(1) HicFam=h

(2) =ETEF

(3) =
(4) ¥em
TELﬁaamiru-&nﬁm%:

(1) =i sfm

(2) ==

(3) Treld wE

(4) B TEE

BOD SR COD =M & :

(1) T e

(2) wEEFAE

(3) v A

(4) =E-NgT A F I

ol w3 o s 6w A 2
(1) wawwe

AT

(2) == wF

58. Themaincomponentof LPGis:

f{ Methane

59.

(2) Ethane

{3) Propane
{4) Butane

The most abundant element of the universe

is:
(1) Oxygen

(2) Silicon

\},‘M/ Hydrogen

(4) Sodium

60. BHAandBHT areusedas:

f (1) Insecticide
(2

| FoodPreservative

(3) Drugs

(4) Fuels

61. TELisusedas:

tf (1) Telephone device

(2} Medicine

(3) Antiknock agent

(4] FoodPreservative

62. BODandCODare:

(1} Research Organisation

(2) Organiccompounds

{3) Parametersto measure air pollution

{4) Parameters to measure water pullution

63. Theenergyofan electroninanatomis:

-\/(A{ Always negative

(2} Always positive
(3} Always zero
(4} Allthe above




65.

66

67.

B8.

69. it W (w0 H) I TEEE HOA 1w

wAtg s aa &

(1) NO

(2) O.N. CCl,

(3) S0,

(4y HS
AR R R R
(1} N.O

(2) CH,

(3} H,OF)

(4) CO,

2,4-D 2:

(1) FFAEATIE

(2) ErEATTE

(3) SEWEEE

(4) w@T-TEEE AT
ani F TR pH AR
(1} <56

(2) <7.0

(3) =480

(4) >70

T T e w2 A g 2, Fem aa a
A E IR ey B R T S Lo e R LR
TR 5 FAT T 5 I S

(1) WA

(2) HHheTEE

(3) =FE

(4) TFAH

27

{1) CuSO,.5H,0
(2) Cu(OH),+CuCO,
{(3) CuSO,+Fe,0,
{4) CuSo,+CuCO,

16

64, Teargasis:

\f/ (1) NO

B5.

66.

67

65,

69.

(2) O.N. CCl
jﬁ‘f S0,
(4) HS
Which one isnota green house gas .
{1 N:D/
2) CH‘,/

(3) H,O{Vapour}

(4) CO;

2,4-Dis:

{1} Fungicide

{2) Insecticide

(3) Bactericide

(4) Weedicide

The pH of acid rain wateris

(1) <586

) =18

(3) =80

4y = 7.0

The name of a polymeric plastic on which oil
and water do not stick and is used to make
non-sticky cook-waresis .

(1} Polythene

(2) Bakelite

(3) Dacron

(4) Teflon

The chemical composition of rust of copper
{green coating)is:

(1) CuSO,.5H,0
(2) Cu(OH),+CuCoO,
(3) CuSO,+Fe,0,

(4) CuSo,+CuCO,
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73.

T4

(1) Sier 51 S8 T B JTE U T2
 wm :

(2) & = W & oo w=m A e o
Eacezics

(3) mﬁ?ﬁ%ﬂﬂﬁ%ﬁuuﬁw‘ﬁaﬁw
Eiciesdo o8

(4) FE T ¥ 0 WETT FAE UF 98T
“Admm T

(1) =gy

(2) =Hmiad s fag

(3) T AR vt R %1 U g
{4) =T i i e fem

FH it Her s uE w2

(1) CNG

(2) LPG

(3) wmgEAm

(4) =T

T 3 4

(1) W\ -9%F :
(2) wiEEEl - v woR
(3) -

(4) wE-Tm

17

71

T

hoose the incorrect pair -

{1) MgO - Basic Oxide
(2) S0, - Acidic Oxide
{3y co - Neutral Oxide
(4) P.O,, - BasicOxide
Bitumenis:

{1) a petroleum product used in place of
coaltar

{2) aninsecticide used tokill bests

(3} a fossil fuel used to burn in heavy
vehicle

(4} apolymerused to make cloths
Whatis gasohol?
(1) Greenhousegas

(2) aholeinspace

- \)})/m-ixture of petrol and ethyl alcohol

T3

(4)  mixture of petrol & kerosene oil
Which one has highest calorific value?
{1) CNG

(2} LPG

(3) Hydrogen Gas

(4) Biogas

Uhuus& incorrect pair :

fids

(1) Hair-protein

{2) Bones-calcium phosphate
{1-3} Cotton - Carbohydrate

{4) Silk-Fat

Which hormone is: used for ‘induced

lactation'
(1) Adrenaline
(2} Chotocin

{3) Vasopressin

(4) Auxin
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78.

T

80.
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o Al e ) Fees g e A R 76. Theheatenergy in sunfstarsis produced .hy:
(1) =nfafir Praves afafwa (1) MNuclearfission reaction

(2) =73 sAfaiFw {(2) Combustion reaction

(3 Miiefm geEa s (3) Nuclearfusion reaction

(4) arEEEt whrwm (4) Thermochemical reaction
T 77. \Whatis wrong about fatty acids

(1) =61 OF 92 B (1) acomponentoffat

(2) FEE AL A H 9 A 2 (2) found infatty menonly

(3) T HY EEET T R - A 2 (3) always contain even number of carob -

atom

(4) HTEA T 2 AL B2 (4) usedtomake soaps
e e 78. Which of the following will not sublime :

(1) =i ) T

2) B {2) Ammonium chloride

(3) A {3) Caicium Chioride

Al (4) lodine

= : 79~ The temperature at which vapour pressure

& A 5 W 73 A o A of aliguid becomes equal to the atmospheric
2T % S B T 2, 3w A pressureis :

(1) (1) Boiling point

(2) TR (2) Melting point

(3) Tu= (3) Freezing point

{4) ‘_':,'t_EF!TrT!{TT {(4) Sublimation point

fepersy FTEam g 1 vy ) an Awar 7 80. Inwhich sodium metal can notbe stored:

(1) o= =1 a4 (1) Kerosenail

(2) Trdm (2) Paraffinwax

(3) =W (3) Ether

(4) HewiEe (4) Aicohol




BIOLOGY
81. == faf § g ¢ 81.
(1) Tofm s e f9
(2) =i
(3) Zrffimsmd
(4) oftFu T
82, wEd gEH a0 B2
(1) A
(2) Hfosay
(3) fa=
(4) T
83. HaseEm i 83,
(1) el @ 7 wen o frfae ety
AR {afea waa 3 2
(2) :fﬁl 14 0 H FAEyEs N4t = e
(3) & =7 A i e = ey s
A 1 ffde et moamm &
(4) wfiwwiT?
84. Fa: WeAEl A9 12, T A9 A F FEEE 84.
9O I T 2
(1)
(2) ==
3 2
@ =
85.

St fasm

85. S s e g F A 2
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(1)

Part-lli

Hybridisation refers to crossing between

genetically dissimilar plants

(2) twodifferentvarities
{3) twodifferentgenera
(4}  Allstatements |
Plant Micronutrient

{1) MNitrogen

{2) Calcium

(3) JAnc

(4}  Sulphur

(1)

(2)
Jm’

(4)

Intercropping is :

growing of different crops ona piece of
land in 2 pre-planned succession

remaoval of unwanted plants from the
cultivated field

growing two or more crops
simultanecusly on the same field in a
definite pattern

all statements true

Internal parasites like worms affect stomach

and intestine while flukes damage.

(1)
(2)
(3
{4)

(1)
(2)
(3)
(4)

Kidney
Heart
Lungs

Liver

Life supporting zone of Earth is known as -

Hydrosphere
Biosphere
Atmosphere

Lithosphere
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»
e sEfa 2 g5. Acute diseaseslastfor

_' Hada (1) Lifetime
.':3 ﬂgﬂw:ﬂaﬁ? (2) very short period
(3 @ sEl (3) alongtime
_;{4} : Eﬁiﬁﬂﬂﬁ:ﬁﬁ (4) nonoftheabve
oz =ty FIFEEE 87. Sieepingsicknessiscausedhy
(1) T (1) Slaphylococdi
(2) S (2) Leishmania
(3) v T {3) Ascaris lumbricoides
(4) fe=rEmn (4) Trypanosoma :
; W@thwﬁﬁmﬁ 8. Antibiotic block biochemical pathway
. important for
(1y aaAtEn® (1) bacteria
(2) AEH (2) virus
(3) S (3) protozoa
(4) FH ' (4) worms
89, HHF TNTATEE 2 The commonest vectors are
(1) i (1) Flies
. (2) (2) Parasites
¥ (3) W (3) Mosquitoes
(4) ImiEn {4) Amoeba :
a0 Hmtmﬁr-:ﬁaﬁﬂﬁn%: g0. Thed
b (1) P (1)
’ (2) R (2) Jaundice
- (3) t=m : (3) AIDS
f (4) &= (4) Cholera
o1 TR e SCE T 91, Japanese-encephaliiescausing virus will GO
Tgp T A to: '
(1) T (1) Lungs
(2y FES {2) Liver
(3) w3 : (3) Heart

(4) wiET=H (4) Brain




92. Local general effectof inflamation is -

—
s S

(1}  Cough
(2) Fever
{3) Drousiness
\M Rashes
g3, InHIVinfection, virus damagesthe:
(1)  Muscularsystem
{2) Nervoussystem

(3) Immune system

(4) Circulatory system

04, . g4, Thescheme of classificationis:

5, %A, e (1) Phylum, kingdom, family

r
L i "'fm' R {2) Kingdom. Pﬁydum, Class
_':"- S, T, S (3)  Phylum Kingdom order
H’ S, S, el (4) Kingderm, Order, Family
95. ZFE!':E“ i B T A snftet swtad 95. \Widely used classification is proposed by
T & :
b {1) Haeckel
(1) Ewe
(2)  Whittaker
2y TeEw
_ {3) Woese
38y =
{4) Edison -
(4) TEHA :
e e ] g6. Moneragroup includes
96 WA HEdE:-
(1) Greenalgae
(1) = e
; 5 {2) Amoeba
{2y SAHET
: {(3) Plantae

e -
(4) Cynobacteria

Lichens is the symbiotic relationship
between

{1) Fungusand bacteria
(2) Fungus and green algac
(3) Fungusand funana

Fungiand biue greenalgae

4)
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G99,

100.

10%.

102

103.

=3 7t 3 gty R wTEy A T IS ] A A
(1) S

(2) eferene

=

(3) FEEE
(4) Fa®
FEA 2

(1) <= oo
(2) =%

(3) i
(4) =
Tl o H2L A1 01 S 2
(1) e
(2) ofsER
(3) Sy
(4) AR
Tt 2 U

(1) Faueresi 9t 2

(2) FREEwSTma

(3) umsiiEeE O e

(4) wEIEIR

a7 Toreant wfie nferean €1 &1 wrdi %1 541 2
(1)  Seftizn

(2) FH

{3} F=F

(4) T

vHfifere s | Bl 2

(1) fawthes weg

(3)  Tormiice aw yeaiE =02 R
(4) T o arafas 2e 1
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98, These are called the amphibians of the plant
kingdom

(1) Algae

{2) Pteridophyta
{3) Bryophyia
{4) Fungus

99. Maked embryos of thallophytes &
pteridophytes are called

(1) egg
(2) gametes
(3) spores
(4) seed
100. Seeds are enclosed in fruits
{1) Gymnasperm
{2) Angiosperm
(3) Phanerogam
(4) Bryophyta
101. Tamarindis a
(1} Gymnosperm giat
{2} Dicotplant
(3) - Monocotplant
{4) Saprophyte

102. An animal have two layers of celis

JA Jeliy fish

{2) Sponge
(3) Fluke
{(4) Spirogyra

103. Annelid animals have
{1) Trploblastic but no coelom

(21  Triploblastic & pseudocoeiom

(3) Triploblastic and dorelventvally
flatiened

\{?/( Triploblastic & true body cavity

e




= miniz) s afatm, T

104, T |

Srxafle 72 A1 €

arrEeia TAa AT R

104. Palaemon, Scolopendra, Palamnacus are

animals of group

(1) Echinodermata
(2) Mollusca

(3) Arthropoda

(4) Annelda

{1) Mouth
2y Eyes
{3) Scolex

(4) Acetabulum
106. Shark fish have
% (1) Three chamhere;:! heart
‘-r {2y “Two chambered heart
{(3) Noheart

{4) Four chambered hearl

T

g o

107. The girth of stemar rootincreases due to

(1) Lateral Meristem
(2) Apical meristem
{3) Epidermis
(4) Intercalary meristem
108, Flexibilityin plantsis duelo
(1) Parenchyma
(2} Ch'lnrench;rma

(3) Aerenchyma

y/ Collenshyma
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109 S il ga 1 wew fufa fafe s 109. The cell of the tissue are dead, walls are
FE AR RS thickened due to lignin, the tissue is
(1) TR {1) collenchyma
(2) TR ' (2} sclerenchyma
(3) HRmEw (3) Cambium
) e (4)  Aerenchyma
110. mﬁﬂﬁﬁaﬁﬁmgqﬁqu 3. 1)_0_ Desert plants, epidemics had a coating of
() fafm (1} Lignin
@) = {2) Cutin
) e ] {3) Melanin
4) e (4) lodine
111 mﬁmﬁwﬁﬁ&iﬁiﬁaﬁuﬁm%: i 1%L, Eiifaen;hat connects muscle to bone in
(1) IR , (1) Cartilage
(2y +H 5 (2)  Ligament
| (3) ==4 (3) Tendon :
! (4) ufeEEEST FaE (4) Areclarconnective tissue
: 112wt e %4 2 112. Reflexactionis afunctionof:
: (1) FEATAwE (1) Spinalcord
| (2) TEETH : (2) Medulla
(3) HwwH® (3) Cerebrum
(4) THEEHH (4) Cerebelium
113w T v ) i g E: 113. Red blood corpuscles formed in
(1) = - e
(2) >EE . (2) Stomach
(3) FF* _ (3) Kidney
{4) A = H (4) Bonemarrow
114 T oy = fem gm A T B 114. The Jpart of cinchona plant, which yields
guinineis:
LIS {1y Leaf
i G {Z} Root
\ i R {3} Bark

1: = (4) Flower




@ e
{3y ==
{4) HuEs

116, il & Fri 4 s il S T,

(1) Erem
(2) AfFmem
(3) WA A

(4) #ETAH

47 wp s el wrd, d@ A OER S o
ey & o1 3ear B, FR e

(1) AR
(2) e
(3) EHETE
(4)  ITEEEE
198, i i i afek sl T R

(1) TE
i (2) Y

@)
) Ty

18 g FoE ] fore] I SF AR H T
- AR '

(1) um Fmme 3eft A 2

(2) T i A o T ara
(3) e g e s
(4)  Trres e s B i am

120, -5t <A w40 ) H TR I S
FIAT &

(1) = 0 A
(2) &0 3
(3}  HEA R A

(4)  ©ITA HEFE

116,

7.

118.

119

120.

\Which one is notwarm blooded animal

{1} Pigeocn
(2) Fish
{3) Ral

(4) Bat

Information necessary for constructing and
organising cells is contained in

(1) DNA
{2) Muclets

{3) Mitochondria

(4) RNA

The organelle responsible lor  storage o
starch. oil and protesn granules is |

(1)  Chloroplast

(2) Plastid

(3) Leucoplast

(4) Ribosome

Which part do not have voluntary muscles
(1) Leg

{2) Shoulder

(3) Heard

{4y Hand

Which statement correctly explain the "Test
Tube Baby"

(1) theembryodevelops in a testtube

(2} fertilization internal & development of
ambryc extermal

(3) fertilization is external & development
of embryo mternal

(4) Fertikzation external & development
of embiryo too external

Colour blind person  has difficuity n
distinguishing between

(1) Red&Blue
(2) Green&Red
(3) Orange&Red

(4) Red&Black
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£ — / b T
2 Y (4) 29 Ik SR
30% of 150 + 7 of 300 =40% of 450 122. 30% of 150+ 7 of 300 = 40% of 450

=0}

{1y 85 1 % =7

(2) 35 4--3 +2) gedd 25 (1 65 2 b _f{_
} 7 Lo, & ‘41 [2) 35 & 1 1 |

(3) 45 \ﬂ( : L[:

W s 13,455 28 }L

AACB HAB=3@I&B?;3—5£3ﬁTﬁ (4) 125 &

Gl T HmTo AR _ C=4 123. In AACB, AB = 3om, BC = Scm. AC = -9

2
T
3|
b

Thenrght angle will be formed at
Vertex A A

{2) s B (2)  WVertex B
(3) ¥ Cc m B C (3) Vertex C B i
(4) m:’ﬁ - ; {4} MNotat all - g
b i T
B4 o v 1X4. Findthe wrong term in the following series

9359, 1558, 311, 17. 5 45 15 I‘%..g y 0 9359, 1558, 311, 17, 25, 12,12

—

1
0 7735 w8 G el B =i
H 2) 25 2y {0 2) 25  Jud
.-! By 1 RS g (5 12
S @) 1558 5 (4) 1558
% 7t e % 31% s 129 31 s 576 31 < 125. The difference between 31% and 129% of
w17y number is 576. Find 17% of the same
Y fo 5 ¢ number. e
% f - 3
- {1) 640 1'-3}#‘51‘ | o~ “ L2 (1) 840 "bl
o c
AR MR R
@) 544 - T T S i A

442
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126. if the selling price of 10 Pens is same as cost
ATy o price of 8 pens, then loss Yais :
e
Ll x, T»E*
(1) 15% % T S7é (1) 15% / B =t
2)  20% o0~ IO 1 \)25/20% : 3
- N
@ % o Slaslies &, o By ~ 1of
L =
(4)  30% i (@) 30% Y= Foc
: ‘ N (&)
127. 75 &2 & foam 1 =y S U 2.1 8 B it 127 In a mixture of 75 litres, the ratio of milk of
L
7 v T foend o e | 25 = 9 ;2; water is 2:1. The amount of water to he
& ST AR W S R

further added tg the mixture so as to wake
the ratio of milk to water 1 2 will be -

SO YruAd
@ e BT

(1) 60 = =2

(2) 45 i

: 751s (5 %6 S oU
5y 3o (4)  300s.
128. 9 P form simmsit = W13 285 2) wad 128. The sum of the three consecutive odd
DI = e : - & numbers is 285. The smallest numberis :1r
.~ i 7 ; {. %
(1) 95 g ET N e (1) 9 '@%2 {L".'_'r 3
4 = g
@ 97 f 2) g7 7 2 S
(3) 93 Py S 76 a’f* 93 o v
(4) 99 o) O (4) 99
129. Bt 59 A = 3 7 autd s o BT 1 % A sum of money doubles in 7 yrs of simple
U =W I A interest It will become fourfoldin: o
e, J oD [ =%
{-]} 10yrs : (1) 10 yrs P'T E‘ g 7 ;
(2) 35yrs T LF )i oo ‘/LZj/ 35yrs JOL' 4
@ 21 g7 @) 21 Beiateh -
_} 2 yrs yrs a-
4)  1ayrs S E’ G 4) t4yrs 4 Pé"z= (0®
Fi x %x R
130,

AL
O T & —% th 92 4 %73 & =iy PIS 1}4 By traveling at % thof his usualspeed a
D
20 ﬁaaﬁzéiwﬁr%rqﬁmmﬁmmﬁﬁm ===
B :

person is late by Inutes. Initial time to
TG o7 - _1:.'} 1?20= tp M2 cover the dfstancezufamaf_"
2 B 5=0 o0
(1) 80 fie | 7 (1) B0minutes = Lo
= 2 § }'Li l“--—-_____-_ .I D I)
{(2) 65 fiz T Q‘EB 7= (2)  B5minutes + = B ® <
: i kg g T =
3) 45 fr ‘j e i \23 & {3)  45minutes Ldv 1,
i ' (4)  50minutes l.j e g 2 O et
4) 50 2 s 22
L7423 . = b
D+ el Ay §
S 00y S )
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131 T = T Tt T doh w12 2 B e 2 s
¥ 0 @z 30 20 = 0w w2 8y gfz e
1 S A S e o g e

(1) 25 e
(2) 40 ==
(3) 30 9=
(4) 35 a2

132, T & 0 F FAE 1:2:3:4 21 ¥ B EH
% 7 3T T L F F T E AN E

(1) 144
2y 150°
(3) 156"
4y 162"

133 71 gw 1 wfrfuai = 9= 132 om. 21 afE B I
+i =1 14 em R AR A A B Er

(1) 35cm
(2} 40cm
(3) 46cm
{4} S54cm

134 1ra, fiias e dtm gamen wfom w s e

A1 fta] s e e 428, 567, FE3H ¥
9 A 21 A s e fae oz e E

{1} 336 44T
(2) 5043797
(3) 2528 @@

(4) = A e g B

H]%E.
£t

13".} 27‘ Zl?(m

28

12 -9

131. Atap canfill an empty tank in 12 hours and a
ieakage can empty the whole tank in 20
hours, Ifthe tap and the leakage are working
simultaneously the whole tank to fill will take:

L]
¢

(1)  25hrs —[ -

2
{2) 40hrs I
20
_/fJ/Sﬂhrs
(4) 35hrs

132. Ratic of angle of a quadrilateral is 1.2:3:4.
The sum of twice the smallest angle and haif

of the [argest angleis : e
\/m/?:“ X

Jax 1o ¢
(3) 156° 144
17

4y 162"

133. Difference of circumference of two circles is
132 cm. Radius of the smallest circle is 14

cim. dius of the largest circleis:
45 cm Zx 2__21*#

2
(2) 40cm

%
(3) 46cm %

D ?_,_2._: x =2 J} ]

(4 Sdcm

134. Raj, Ritik and Piyush begin to jog around a
circular stadium They complete their
revolutions in 42 secs, 56 secs and 63 secs
respectively. They will be together at starting

points after | $ e
v 8 :
(1) - Baisace S =t Y2
e P Skt
504 secs ' .
; %
(3) 252secs §

L

{4) can'tbe determined

Yo Z?_ﬂ;_i i
=T oY




135. voft 31 fafm afea o smmi vt &1 veen sand
S 30, fie % ag s 21 e gE e
2% 90 Bz ¥ 9R F9a 21 af &N sed
11 pm TUE o § 1 ST TR A A =

(1) 12.30 g%
(2) 2.00 g==
(3) 1.30 g
4) 1.00 =%

. i TL ‘ﬁaﬁq{mﬂm

135. Rashmi sets alarm in two different clocks.
The first alarm rings after every 30 minutes
and the second rings afterevery 90 minutes.

_ If they ring together at 11 pm. They will ring
again togetherat :

VQ‘{' 12.30 am

(2) 2.00am
(3) 1.30am
(4) 1.00am

T 2 52
ﬁ. Simplifying: ————— weget:
2 =

- = 2
ners

@ =3 LS Sk
B Ry A
@) = @-1) \
@)= 2%
2

137. The value of the expression :
'J it F “
)2 W :

2y 8

(3 4 r‘}
(4 10 . ‘*h/

138. The solutionof 2™ *x 3" =gis

I i F

e

L

3 &
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140 Fm @ af ww  ZFBD = 62°, ZBAC = 43",

141,

(_T"Fgﬂ‘lé?ﬂizc, Sle b

s Y :
a0 - 70“1"] - ‘r-3
.mq:ﬁ B i Elfa F= 213 BC = 0D, 133 In the figure, O is the centre of the circle is
SAOD =P 3 LACO=q 7 _ BC=0D, £ZAOD=Pand £ACO=q
2 /-"'"_'_"“-.\ B o

(3) P=3q 1+] 50 ‘j 4’3 '2-} L (3) P=3q

(4) P an q § e e T R (4) There is no special relationship
= between P and g

140. In the figure if £FBD = 62", £BAC = 43",
At £ EDC =T & : Then £ EDC will be:

(3) 62 L @ — Jgu _,..j_ Lg _:ZI:LL 3) 16° 2 2
@) 3 & e :
afz S ma o e AT U AT VA 141 If cube of surface S has volume Y, then
28 Tt & HAE AT 5 ST volume of cube of surface area 25 is:
(1) J2v ﬁ"g -,'3& (1) J2v .
2y 2V (205 2% A ‘.
o 2y 25T, S oE S
o e e

(4) 4V 3 (4) -
ke &
: —=:

7 s o
Z A




) B ._’ & F? JC ‘-I— i \|'
i) Bl / X i
e sy -2y
RS T It ¢ | =
\‘LE L __’{3 o zll'; 31 X 'L
42. 9% x+x7" T'th*—;‘ﬁf"-l‘l:'%’:‘ﬁ'f i .
' X W2 e ™ = =S hen ol o L iouidbis
(1) 64 \ = i — X
o (1) 64 \
(' A 3.}-
(2) 82 oSy ( 2 >
AT (2) 52 L - ? .
(3} 32 A :
. ﬁ (3) 32 1 \
4 12 GL x

2
143 1 Hanl o e o
1+ cot'f) 22 i!{() e ﬂ 15 equal to
l

"‘: 1+ccrc’{}
(1)  sech fD"" L-

2 s sec?) ch'
2 -1 ,HsU"-L L2 > // |

. 7 (@ -1 \
cot’d L" (x_,-‘* \)
ot B
e (3) cot@ =
@) tan 7 3! ;""’L \Lv
s
; 4 n i =L
V4. OF T i 3w gm0, & A 4 e L
T % F5TE S Fp - -% The ratio of length of a pole and its shadow is
r ol 143 The angle of elevation of syr i -
(1) s0° | BTl a &
1{6[}## Z (1) 90 '11.»\ -’?‘i’L
(2) 60’ L a =1
2) 80
(3) 45° Z A
a
‘k‘ v (B 45 |
(4) 30 . Ce
(4) a3g° i LA
145, U AABC o B 941 <C = w1 muizyr=s
a7 P w fums & 41 Fwr TaEerEE Q o 145. Ina AABC, internal bisectors of 4B and . ¢
e 2 £BPC+ /BQC F1amem- meetat P. External bisectors of 2B and £C
A meetat Q. Then #/BPC + /BOC will be

(1)

(2)

(4)

= M

g4 3 3




/f_ ? ?"“EZ YZ - 'J"E"" = qu
. r{- A
_,; o 7T ( 2 243> 5 1 \Ja E l'|
_;_. e 3 -_III-"'{Ll 1
g 6 32
146, T 575 1 Bren i Fres 39t 1 sIE 4 07 2 X& The radius and slant height of a cone are in
afe 7 5% "E@TEE’T 762 cm %I A ‘II'E £ B the ratio 4 : 7 If tr;e curved surface area of
s 5 the coneis 792 cm . Then radius of the cone
A= |\.,II.-' R“l%#‘ * is - b,
3 E} 4 = 2_‘.,?5‘.
{1} 3Jcm //; E’ /SCETI }’]‘Y(i +v)
- u?«? . B
s o (2) 1icm T IIi
(3) 12em .Paf‘i‘ @: = }. J
22 .
(4) 28cm _:ﬂ Yo X ?\}L‘ 4) 28cm ||I,__._-
147. Tom T3 318 07 § FI2 T T %1 S 2 ?@ The volume of the sphere curved out of a
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